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LOGARITHMS

If a is a positive real number, other than 1 and a* = m,
then x 1s called the logarithm of m to the base a. It is
denoted by log, m. Thus, ¢* =m @g“ = ; " = 5 f

e.g., 23 =8 o log, 8= 3
If x < 0,thenlog, x is imaginary.\j
If x = 0, thenlog, x IS meaningless.

log, x exists, ifand only if x >0,a> 0 and a # 1.
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PROPERTIES OF LOGARITHMS @a”’//\O
@aloga \=/wa¢0 1, x>0 lai(a["i“) - Z"dﬁf

9 alogix_xlogba ;a>0, b6>0,#1,x>0 ,’&y)(%@ &f‘f _j_(am)
@1Oga a=1 10ga 1=05a>0,#1 &dax(’):.lofaf :Lﬂl%ﬁ

‘k’gax— ;x,a>0,¢1 /
@ 1 4

@ g—x%=togy%, log, b= 108.55\'3; a,b>0,#1, x>0 [oilz :_/—
| log, a .
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PROPERTIES OF LOGARITHMS

For m,n>0,a>0and #1

oga (m-n)=log, m+log, n
Nt ~— "\ NS AL

oga (ﬁ) = log, m —log, n
n —— (O

(c) log, (m™)=n log, (m)
N\ S—— A~

7. Forx>0,a>0,%#1 %

(a) loggn 3_(:_=L11 lOgijEj gbja M- m Aﬂia X

’

g (b) log , x™ = (ﬁ log, x
\::J*-/‘ " /
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PROPERTIES OF LOGARITHMS

8. Forx>y>0

(a)log, x>log, v, ifa>1
(b) log, x<log, vy, f O<a<1
9. a>1, then

(a)log, x> p= x> a’
N
(b)0<log, x< p=>1<x<a”

\4.—--.—/ U\M_'/

10. If Q< a<1,then

(a)log, x> p= 0<x<a”
N

(b)O<log, x< p=af<x<1
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Q) What 1s the value of

(logs; 9)(logs 64) .,

(a) 1 (b) 2
Gﬂl) 5%?6‘/)
[0073 {7 bvﬂ(]o? b i
o
log - 1

log, V2
N

(d) 8

(f) A
(3) "= 4
(f)g:JJ—
(B)* =4
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(logy; 9)(logs 64),,

log, J2
(a) 1 (b) 2 (c) 4 (d) 8

Q) What 1s the value of

Ans: (c)
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Q) If (log, x)(logs 2x)(log,, v)= log, x*,then what is the

value of y?
(8) g By 9 (c) 18 (d) 27
(’)(lng("“‘))(w) - ["/xzz 26121 23 _—
- /zz
@’{3 ‘”}[Zju])’; ‘é“
A =
e j217 ij _é_
0 [ gD
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Q) If (log, x)(logs 2x)(log,, v)= log, x*,then what is the
value of y?

(2) g ®) 9 © 18 (d) 27

Ans: (b)
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Q) If 41893 4 glos2d = 108x 83 then x is

(a) 4 (b) 9

(¢c) 10 (d) None of these
1 log, 83

4 g9+ 9" = T

(odlo §3 < &’Jz 43 (&dlo /0)

/

43 + 8 = lo7,,83 = (o7, 83 (1)
. 50/283 \’(ZL, ﬁ/

d+ & -

/
g3 - I ),
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Q) If 41893 4 glos2d = 108x 83 then x is

(a) 4 (b) 9
(¢c) 10 (d) None of these

Ans: (c)
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Q) What is the value of 2logg 2 — log‘; 9?
(870 (b) 1 (c) 2 (d) 1/3
ax L - Z
10/2 o 3
= 4

- 0

a

)

-2
3
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Q) What is the value of 2logg 2 — 282 %

3
(@) O (b) 1 (c) 2 d) 1/3

Ans: (a)
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Q)Iflog,, (x + 1) + log;y 5 = 3,then what is the value of x?
_Laf 199 (b) 200
(c) 299 (d) 300

5% = 995
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Q)Iflog,, (x + 1) + log;y 5 = 3,then what is the value of x?

(a) 199 (b) 200
(c) 299 (d) 300

Ans: (a)
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Q) If log, (a-; b) =%(loge a + log, b),then £~ natura &’W‘riﬂw
b €= d-7 ...
\ngfa,:b (b) G—E A,/ » /7)
B b _L (
(© 2a=5 DO W (a8) = GH(ab)
L

Zoi (4) (AJ (dé))
j (a%) : bJ (44

=7 ,L -
3
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Q) If log, (a er b) = % (log, a + log, b),then
(a) a=>b (b) a =

(¢c) 2a=0> (d) a=

W | oo | o

Ans: (a)
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Q) The value of e(loglo tan 1° + logyg tan 2° +.... + logyg tan 89°) is

equal to
(a) O N %
(c) e (d) ;

0
loi,y fan)® 4 1007/9 b+ + log, T 8

60//0 (Fan/® fan2®. fan 9—?—0) M" ﬁ/é"_,/ —'-wh'M—@Z{
bog (1) = 0 ot 1) = 0 - lag 1) = g )
00 = | af any bate (1) = 0
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Q) The value of e(loglo tan 1° + logyg tan 2° +.... + logyg tan 89°) is

equal to
(a) O (b) ':ll
(c) e (d) p;

Ans: (b)
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Q)If x< 0, y< 0, then log (xy) is equal to

(a) logx + log y (b) log (- x)+ log(- )
(c) —’19’g X — lo_g_g_v— (ﬁ None of these

Zoj (r/} - w

Z@/, not o(afnu{ /o*r Kol =
0

r, E<0, 40
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Q)If x< 0, y< 0, then log (xy) is equal to

(a) logx + log vy (b) log (- x)+ log(— y)
(¢c) —logx—log vy (d) None of these

Ans: (b)
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Q) What is log(a ++a® +1) + log L equals
a+ \/a‘? +1

* [ -
to? B Zoixxdod—i'
(a) 1 ({
© 2 @ < doz+l‘7— =0

/Oj(af\/a’-f/—) # [od(ow/ﬁ/ﬂz\
bt (o1 7y) — lglos d27) = 0 |
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1

Q) What is log(a ++a® +1)+ log(

to?
(a) 1 (b) ({
(c) 2 (d) 5

Ans: (b)

a+1/a2+1

] equals
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Q) If log,, x log; k= 3,then what 1s the value of x?

(a) K (b) 5k
(c) 243 d) 125
g, x x L =3
ikx (o/kf

EEEEE
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Q) If log,, x log; k= 3,then what 1s the value of x?

(a) & b)) 5K
(c) 243 d) 125

Ans: (d)
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Q) For what value(s) of x 1s
log,o (999 + /2% — 3x + 3) = 3?
(a) O (b) Only 1
(c) Only 2 (d) 1,2
Ha

s
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Q) For what value(s) of x 1s
log,o (999 + /2% — 3x + 3) = 32

(a) 0 (b) Only 1
(¢c) Only 2 d) 1,2

Ans: (d)
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logx log36 log 64

Q) If , what are the values of x

log5_ log 6 - log vy
and y, respectively?
(a) 8, 25 JM 25, 8 (c) 8,8 (d) 25, 25

(7/ mz%ini/
974 - /—['?(QL’ = 4 Mean g fome bale,

&W: log b + (09

L=25 (72», 67 (gaMe éow,)
(L

—
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logx log36 log 64

Q) If , what are the values of x

log 5 - log 6 - log vy
and y, respectively?
(a) 8, 25 (b) 25, 8 (c) 8,8 (d) 25, 25

Ans: (b)
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Q) How many number of digits are there in 27%?
(Given that log;, 2= 0.30103)

(a) 98 (b) 99
(e 30 (d) 29
[oj/o & 7 -~ ?9 X [Di,o °?
- 98 x0-30/03

= (/oo,;g) %0:30/03
= 30+f03- 06020l 0 %
* 39 (g puf)e ifiB of

v

-—
-

7/)7‘ m/
e

)

oo,
[000

(lod,vx) +
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Q) How many number of digits are there in 27%?
(Given that log;, 2= 0.30103)
(a) 98 (b) 99
(c) 30 (d) 29

Ans: (c)
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Q) What is the number of digits in the numeral form of
8" ?

(a) 51 b) 16 (©) 15 (d) 14
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Q) What is the number of digits in the numeral form of
8" ?
(a) 51 (b) 16 (¢) 15 (d) 14

Ans: (b)
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Q) What 1s the least 1integral value of L=/ oo b
210g10x - ]-ng (0‘01)? A\)j&’) ' ;)' da

@) 0 b) 2 (oyh @ 3
3 g, 2 * ]

“90?”’%— % (?olo' %7/:»"’
02(_/,70) —[ZIJJX(/) -—&yz (/50)] 0”00%17‘ /
' [” /6D /7/01)
&(&L’o)—()* ik ozz%”,,z ; (AfL)
h A
min value 97[ A+2’L '/»?(lf;ﬁw/) J/o
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;] o?lo/x /o
[of <" by A+ L fo be wiimum
9 1 4 A A
A A=/ A+A,/ =
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Q) What 1s the
2log;y x — log, (0.01)?

(a) 0 b) 2

Ans: (c)

least

integral

(c) 4

value

(d) 3

of
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